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MASTER OF ARTS (ECONOMICS) 

(MEC) 

Term-End Examination 

June, 2020 
MECE-001 : ECONOMETRIC METHODS 

Time : 3 Hours 	 Maximum Marks : 100 

Note : Attempt questions from each Section as per 

instructions given. 

Section—A 

Note : Answer any two questions from this Section. 

20 each 

1. Consider the regression model : 

= a + f3Xi  + 

where ui  N (0, a2 ) . 

(a) Find the least squares estimators for a 

and p. 

(b) Find the least square estimator for a 2  

P. T. O. 
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2. Explain the underlying ideas behind the linear 

probability model. What are the problems 

encountered in this model ? Explain, how the 

probit model takes care of these problems. 

3. Explain the concept of auto-correlation. What 

are its consequences for the OLS estimates ? 

Explain any one of the method of detecting 

auto-correlation in a regression model. 

4. When do you use Generalised Least Squares 

(GLS) ? Outline the procedure of finding GLS 

estimator for the model : 

Y = Xf3 + U 

Section—B 

Note : Answer any five questions from this 

Section. 	 12 each 

5. Under what conditions would you use the two-

stage least squares (2SLS) estimator ? Outline 

the procedure. 
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6. When and why is the 'Chow' test used for 

identifying a structural break ? Outline the 

procedure for carrying out the test. 

7. Write a short note on the method of principal 

component analysis. 

8. Show that the inclusion of an irrelevant 

variable does not bias the estimated intercept 

parameter. 

9. Consider 	the 	following 	Cobb-Douglas 

production function : 

Y=aLPiKD2 

where Y is output, L is labour and K is capital. 

Explain, how the above function can be 

estimated. 

10. When do you use a dummy variable ? What is 

meant by dummy variable trap ? Explain the 

procedure of using dummy variable with a 

suitable example. 

P. T. O. 
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11. What is meant by heteroscedasticity ? Explain 

any one of the remedial measures to deal with 

the problem of heteroscedasticity. 

12. Explain the concept of Best Linear Unbaised 

Estimator (BLUE). Prove that Ordinary Least 

Squares (OLS) estimators are BLUE. 
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